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2.	Bez	 Prozent-	&	Zinsrechnen	 Lösungen	AB	1	
	

1. 		

a) t	=	23	d	 Z	=	3.85	Fr.	

b) t	=	103	d	 Z	=	8.25	Fr.	

c) t	=	44	d	 Z	=	62.80	Fr.	

d) t	=	83	d	 Z	=	93.65	Fr.	

	

2. 	

K1	=	2’400.-	Fr.	 t1	=	205	d	 Z1	=	61.50	Fr.	

K2	=	2’530.-	Fr.	 t2	=	80	d	 Z2	=	25.30	Fr.	

	 ZTotal	=	86.80	Fr.	 VST	=	0,35 ∙ 86.60	𝐹𝑟. = 30.40	𝐹𝑟.	

	 Guthaben:	K2	+	ZTotal	–	VST	=	2'586.40	Fr.	

	

3. K	=	 	

a) t	=	142	d	 K	=	5'492.95	Fr.	

b) t	=	150	d	 K	=	18'607.30	Fr.	

c) t	=	164	d	 K	=	143'315.10	Fr.	

d) t	=	258	d	 K	=	19'933.55	Fr.	

	

4. p	=	 	

a) t	=	113	d	 p	=	5,3%	

b) t	=	240	d	 p	=	5,25%	

c) t	=	84	d	 p	=	3,75%	

d) t	=	108	d	 p	=	3,5%	

	

5. t	=	 	

a) t	=	113	d	

b) t	=	207	d	 	
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6. 200 ∙ 0,3 = 60	𝑧𝑢	𝐹𝑢𝑠𝑠	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	140.	 140 ∙ 0,6 = 84	𝑘𝑜𝑚𝑚𝑒𝑛	𝑚𝑖𝑡	𝑑𝑒𝑚	𝑉𝑒𝑙𝑜	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	56.	 56 ∙ !
"
= 48	𝑘𝑜𝑚𝑚𝑒𝑛	𝑚𝑖𝑡	𝑑𝑒𝑚	𝐵𝑢𝑠	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	8	𝑑𝑖𝑒	𝑚𝑖𝑡	𝑑𝑒𝑚	𝑀𝑜𝑓𝑎	𝑘𝑜𝑚𝑚𝑒𝑛.	

	

7. 250.−𝐹𝑟.		
∙	%,%
D⎯F 	275.−𝐹𝑟.		

∙	%,%
D⎯F	302.50	𝐹𝑟.			

	

8. !
'(
= 0,125 = 12,5%	𝐺𝑒𝑤𝑖𝑛𝑛	 !

)'
= 0, 1K = 11,1%	𝑉𝑒𝑟𝑙𝑢𝑠𝑡	

	

9. 680.−𝐹𝑟.		
∙*,()
D⎯F			

∙	%,*)
D⎯⎯F 	606.90	𝐹𝑟.						680 − 606.90 = 73.10	𝐹𝑟.				 "+.%*

!(*
= 0.1075 = 10,75%		

𝐸𝑠	𝑤𝑢𝑟𝑑𝑒	73.10	𝐹𝑟. 𝑏𝑖𝑙𝑙𝑖𝑔𝑒𝑟, 𝑑𝑖𝑒𝑠	𝑒𝑛𝑡𝑠𝑝𝑟𝑖𝑐ℎ𝑡	10,75%.	

	

10. 𝑥
∙	%,*-
D⎯⎯F			

∙	%,*+
D⎯⎯F			

∙	%,*'
D⎯⎯F 			500	𝐹𝑟.	

𝑥
:%,*-
R⎯S					

:%,*+
R⎯S				

:%,*'
R⎯S 			500	𝐹𝑟.																																		𝑥 = 457,60	𝐹𝑟.	

	

11. 𝑥
∙	%,%)
D⎯⎯F			

∙	/						
D⎯⎯F 	1,2𝑥	 1,15 ∙ 𝑦 = 1,2	

	 𝑦 = 1,04								𝐷𝑒𝑟	𝑃𝑟𝑒𝑖𝑠	𝑤𝑢𝑟𝑑𝑒	𝑢𝑚	4%	𝑎𝑛𝑔𝑒ℎ𝑜𝑏𝑒𝑛.	

	

12. 𝑥
∙	%,%)
D⎯⎯F			

∙	/						
D⎯⎯F 	0,95𝑥	 1,15 ∙ 𝑦 = 0,95	

	 𝑦 = 0,83								𝐷𝑒𝑟	𝑃𝑟𝑒𝑖𝑠	𝑤𝑢𝑟𝑑𝑒	𝑢𝑚	17%	𝑔𝑒𝑠𝑒𝑛𝑘𝑡.	

	

13. 𝐾% = 2′000 ∙ 1,022 = 2′044	𝐹𝑟.	

𝐾- = 2′000 ∙ 1,022- = 2′088.95	𝐹𝑟.	

𝐾+ = 2′000 ∙ 1,022+ = 2′134.95	𝐹𝑟.	

𝐾%- = 2′000 ∙ 1,022%- = 20596.80	𝐹𝑟.	

	

14. 210000	𝐹𝑟. =Y 5%				𝑑𝑎𝑠	ℎ𝑒𝑖𝑠𝑠𝑡:				100%	 =Y 	4200000	𝐹𝑟.		

𝑑𝑖𝑒𝑠	𝑒𝑟𝑔𝑖𝑏𝑡	𝑍1	234564 = 1′750.−𝐹𝑟.	

𝑍1	7895564 = 1′625.−𝐹𝑟.	
%!-)
%")*

= 0,929…	 𝐷𝑖𝑒𝑠	𝑠𝑖𝑛𝑑	7,1%	𝑤𝑒𝑛𝑖𝑔𝑒𝑟.	
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15. 𝑥
∙	*,()
D⎯⎯F			

∙	%,%
D⎯F			

∙	*,:)
D⎯F 			2842.40	𝐹𝑟.	

𝑥
:*,()
R⎯S					

:%,%
RS				

:*,:)
R⎯S 			2842.40	𝐹𝑟.																																		𝑥 = 3200	𝐹𝑟.	

	

16. 𝑥 ∙ 360 = 	 (𝑥 + 0.0075) ∙ 315	

			360𝑥 = 315𝑥 + 2,3625	

						45𝑥 = 2,3625	

											𝑥 = 0,0525 = 5,25%	

	

17. 	 𝑍% =
-'*∙*,*+")∙-((

+!*
= 7.20	𝐹𝑟.	 𝑍- = 7.−𝐹𝑟.	

t	=	 	 𝑡- =
"∙+!*

'-*∙*,*+")
= 160	𝑑	 20.	Juli	

	

18. 𝑥	 ∙ 1,1' = 100000.−	𝐹𝑟.	 %****
%,%!

= 6′830,15	𝐹𝑟.	

	
19. Anzahlung:	800.-	Fr.	

Ratenzahlungen: 5 ∙ 0,65 ∙ 800 = 20600.−𝐹𝑟.	 Total:	3'400.-	Fr.	
200
3200 = 0,0625 = 6,25%	

Zt =
K ⋅ p ⋅ t
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Zt ⋅360
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